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. viN&TRUﬂTlGNE AND INFORMATION |

| ;,Raad the f fuliowmg n&tmaﬁons rsafefu[!y Esafaw ar;swara g

- The diagrarms in this question :pﬁp@mr@N@T“n@;}és&éﬁ}yﬁra@ﬁi’:};sgggie;ﬁ,

© ® =

Do NOT use graph paper,
10 You may use a n;;)nepmgmmma:b_.la'::czaimiiam{; rotract @ compass;

1. Write heatly and legibly.
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NEC
SECTION A
QUESTION 1
1.1 Various options are provided as possible answers to the following questions,

Choose the correct answer and write only the letter (A to D) next to the
guestion number (1.1.1 to 1.1.10) in your ANSWER BQOK, for example
1.1.11 D. , ‘

1.1.1 Meiosis ensures that aach rew cell produced by cell divigion will
have ..

A the same number of chromogomes as the original cell,
B twice the number of chromosomes as the original cell.
C  half the number of chromosomes as the original (;@Fi

D homologous chmmas&e}m% .

112 Involuntary actions are controlled E&y’tbaﬂ, ‘

madulla oblongata,
sorpus callosum.
cerebelium.
cerebrum,

SCOoOu>

118, Adrenalin is carried fo the heart ..,

A by blood,

B along ducts.

G by lymph.

‘D along nerve ﬂbms,

144 Study the list of harmanw below

i FS8H

i Aldosterone.

il TSHM ,
iv C:‘imw%h hormone

Which ONE of the followi ng wmbmaimns rapr&mnis harmeﬁes of
the pituitary gland? ,

A (i), (ity and (iv) only
B (i), (iiy and (iv) only
C (i), (i) and (i) only
D (i) and (i) only

Copyright reserved Please turn over
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115

- the central nervous: w@t@m‘?

»1‘-1;6 b‘

Cmpyrlghf r@mw@d

B 2and3

Study tha:a fmtws mlww

A (D), (i) and (i) mnty
B
g (i), (iiiy and (iv) only.

£ mania;ﬁ;aﬁ%%ept.em%@? 2016

Study the diagram below.

Which QN{: of the fal!ﬁ;wmg eombfnatm of fms is a»-mii of

A 1and?2

C t1and4
D Bandd-

- Whieh C:\NF* of the follmwing is truee ab‘i

A Their ay% are open’ whem bom e

B They are able to survive without parental care
- C They are riot able to move m}n themr own after birt

D They are abla te: fm“ S8l

i; Veld firea SR

- Bimdimwity
m Drought
v Floods

Whiich ONE of the fonewfng aembmamna of fac‘ rs tmw&s&s
884 rcasgult of global W&iﬁ‘ﬁ ng? S

(1), (i) and (iv) only -
(t) (i), (ifiy and (iv) -
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1.1.8

1.1.9

1.1.10

Copyright reserved
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Which ONE of the following will DECREASE food security?

A Planting more fruit trees

B Increase in blodiversity

C Increase in alien plants

D Controlled use of fertilisers

Study the following statements;

i Aguatic algae grow rapidly

i Specles diversity increases over time
il Nutrient level of the water increases
v Oxygen level in watér decreases

Which of the following is a result af'éut?@;ﬁﬁmﬁoﬁ?

A (D), (ify and (i) only -
B (), (i) and (iv) only
C {0, (D), () and (iv)

D (i), (i) and (iv) only

The control ¢entre in the body that will be activated when an
athlete is dehydrated isthe ... ‘

pancreas.
cerebrum.
corpus callosum.
hypothalamus.

Soo >

(10 x 2)

Preparatory Examination September 2016

(20)
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1.2.

that dwvewps many blood vessefs that s;‘nabia th@ R

bs ‘;;@Q from the air spacea n th

128 The hmrmmm r@mmd wﬁ@m tha bady'

, : 12.6 M:avmg reliable accoss to &z s;uffimemt quanttty c}f affareiaﬁx!e& rémrt{iou«s : i
£ . | food to all people G 1
exn @  (

Vi 1.3 Indicate whether tsem:h of tha& mxat@mant& in c:f;mum i applies to A mw
B ONLY, BOTH A AND B or NONE of the items in COLUMN I, Write A only,
P B only, both A and B, or nona ﬁeax’c o the quemt immbar (‘f 3 ? ta 1.3 Z)in

th&} ANSWER BOOK. e ,
S QQWMNI » QQW%N 'i
181 | Form of re:uprodwtimn where tme f@ma!ea A, Ovovivipary
[ | keeps the egys Inside her: body untll eggs | B. Ovipary
| lhatch internally \ :
11.3.2 | Plants that are only found in one gpecific | A. Indigenous
| . | area and nowhere else in the world B. Endemic
1.3.3 | The increase of greenhouse gases which | A, Ozone dep ﬁtign
causes an increase in hoat bemg trap;)ed B. Enhanced
inside the atmosphere graanh@use effect
1.3.4 | Involved . in - controlling blood guaase CACInsdline \ .
concentration | B. Gsﬂcagen » ( )

1.35 | Increases vanat:an during gam@ta; - A. Crossing Qv{ar
formation . B Fertili satss:m G
1.3.6 | Controls the i@val of salt ﬁtm zmdy A erone

137 | Reduces the pest t‘:ﬁowlamn :by;;tﬁe
| e introduction of it's naturalenemy | B.

1x2) (4
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N8C

1.4 Study the sketch of the female and male reproductive systems below and answer
the questions that follow.

m o ow »

14,1 Write down the LETTER and NAME@ z:sf thea ;mrt

L) (a)  Where fertlisation would ﬁ@rﬁmﬁy t@zk@ ;ximé 7- ,
(b)Y Inwhich implantation takes pir&c;a :
{e) I which ova gre produced ey
(d) - ‘Responsible for the production ef t?‘!i%& mza!e ?xamam
1.4.2 t:%‘« w::e the label for pawt L
1.4.3 @tsam C’}NEE functi crm of part M |
TOTAL SEGTION At
()

(2)
(2)
(2)

™

W

(10)
50

Copyright reserved | Please turn over
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SECTIONB

o2 E‘*ﬁtudy the daagmm h@lww amﬂ

‘;?féi_:éaﬁa@%é&tamber 2016

QU%S’F%QN 2

@faiiawmg quea&tionﬁ

21,1 Write down the LETTER onl y foF th@ part thattransr""ita imguisegg away
from the spinal cord. :

(n

UR
&,
@

212 G‘»N@ the function of part B.

213 Make a labelled drawing showing tha sstruct ,

2.1 Jt E“xplam thw mgniﬁmmw of a resﬂiszx mtmn

i .231’.,.8“; /kmcntorc:yzsli&t wm in i ”wmu& m;idam jurmg his has‘;d’ .

_ _E:”:,xplain wbym- was as}ta fee:a! but cauid m:at mow his ftngers
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NSC

2.2 A student conducted an investigation to ﬁ@%armine the effect of distance on
the curvature (thickness) of the lens of the human eye.

- The student sat in & well-lit room.
~ The student covered one eye with an eye patch.

A pencil was held in front of the student’s uncovered eye for 10
seconds.
The student focussed on the pencil until & clear image could be seen
and at the same time the curvature of the lens of the. swdmt s eye
~ was measured with an optical instrument.
5 The pencil was then moved to different distances from the eye and
the curvature of the lens of the. &ye was me«asw&é at each new

- distance.

N

The results of the Investigation are shown in ﬁ‘zﬁa tzable below

DISTANCE OF THE PENCIL CJUE%WWURE% lf}?"’ THE LENS (ﬁ)!““
FROM THE EYE (cn) , ?"HEE EYE (rom)

10 o ' 40

20 : ' 36
30 ‘ . 2

50 i .28
100 ' ‘ 27
150 N Y

; 3;2.1 ﬁmt@ # pamibm hypc)theasm for the investigation.

222 -rmm any “I“WC‘) other factors that should be kept c:eﬁst:ani in t}w
g W@stigataan

B 223 'E:‘xpmiﬁ the ahaﬁgw in ihea survature of the lens durmg the

investigation..

(6)
(9)

“m‘gpyﬁg‘ht :r@mw@d:. Please turn over
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2.3 Data was collected using a similar pmceciufs as dessnbecf m QU%ST iON 2.2
and a graph was drawn, L

;3

- Average maximum change in
thickness of lens {arbifrary units)

2

ey ¥ & : ey S ;

AQ@-G’WFS} S

e
<

231 Ataround what age does the lens lQ%éfiijﬁ*-aﬁiiiiy{déﬁéﬁgé shape? M)

232 If a person loses the ability to ‘cﬁahgétha:&haiﬁé of their lens,
: explain the effect this muld have an the person’ 3 eyasight @

233 ‘Pewr;)l@ beatwmm the age of 20 aﬂd 40 uwg glass@s, ar@ eadvimd to
E whamge& them every two years after resteastlng their. ezysasight

E:«xpstam why thim; Would be nezc:mswy B R . (-3])

Copyright r&mrv&d I Please i&lt’i‘!‘tﬁi\@l"“n"
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24 Study the following diagram and answer the following questions.

241  Label partE. S D e R (1)
2.4.2 State ONE function of partD. o

243  Wite down the LETTER and NAME of the pait responsible for
‘equal pressure of both sides of part A, , (2)

244  Explain what would happen if part A has a hole in it 3)

25 | Describe the ';&h&ﬂ@%ih&t would take place to restore balance when the
‘ thyroxin level in the body is too low. \ (5)

© TOTAL QUESTION 2: {40)

 Copyright reserved  Please tutn over
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QUESTION 3

3.1 Study the diagrams below of amml celle $howmg éifferésftt $tas;@$ af cell

N&G

’ drv;xz:on and mns&wm tha questions that follow. .

3.1.2

343
314
3.1.5

Copyright reserved
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@

[dentify parts:

n A (1)
@ B e i €
Give TWO observable reasons why i’hse phases in th@ dsagmm are pr
pm of m&mla L c » _ o (@
Could ttmaa cell rezpres«,antad b@ ihat ::af a human’? . 1)
Explain your answer to (QUL&T!C)N 3, 1 3. | , &)
State THF?IF = ways in Wh:t::h this typia c:f cell dlvssian 8 bsolog:mily |
:m;:aor‘tant

Please turn over
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3.2 The following table shows the total amauﬂf of solid waste and the amount of
recyclable material dumpad in & South African city lafzdﬁf site over a number of

years. ‘
“YEAR | TOTAL AMOUNT OF SOLID | AMOUNT OF Rf‘ém*mma_
[ WASTE (MILLIONS OF MATERIAL IN SOLID WASTE
| TONNES) | (MILLIONS OF TONNFE%)

2003 T 148 0.75

604 [ 189 0.80

2005 780 150

2006 | 1,98 B

3.2.1  Describe the trend for the total am&uﬂt t:)f 80 id w&m in the ¢ity I:antifill

site. (2)
3.2.2 &uggwt ONE reasor for the tmfidjdzésefibﬁi ifz5fc;iwﬁ$?*f<ﬁ)ﬂi 32.1. 1)
3.2.3 - Give TWO reasons why the: rtwyé ing of waste Ié advamsag@om (2)
3,24  Explain how poor manag;@mvam of iaﬁdﬁil *Sétwﬁ can affssot the water

quality in a city: e : , | (2)
325 Draw a bar graph to ultuz«stmte th%a a%wgss i the i?ﬂ?t}{éﬁ? of mcyrsiam

:wam over time, : el (6)

> "ﬁm;}a’yﬂght-réwry@d_ | T Please tum over
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3.3 Study the following - illustration of a hean saediing that had i:feem placed
horizontally on moist cotton wool. During the investigation the seedling had
LINIFORM light exposure for four ciays After a few days ti“xe pzart !ab&sil@d A

, @farted to gmw upwards,

o :E:Seef‘.c:re& 'exmsur& to»;mifsrf*s‘; Jight After exposure to méform 'li“ght

3341

332

' 3;3.1-3}

334

 Copyright reserved

Identify the spedific tropism iilustrated byth@; g%é\ﬁrtiz at A,

Name the hormone m&pcmmbla fm' tirw ;;;mwih mw@mwt

= lustrated above.

Desoribe how the hcamwm} me‘zmmmd m QUI&Z&T EC:)N 3 3 2 led to

the& u;:swsard growth of part A,

A rotating c:i%mwtm OVEIrtOmes iha ef’f@r;t of gmwty

- Explain the difference: in results if this inthigmioﬁ w:-aws sset up ona
*rotati ng; clinostat,

&atata& ”T“WC) ways In wiwh the miiabsl;ty af the ir;ves&tsgmwﬁ can be
improved. :

(3)

(10)

Please turn over
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NEC.

3.4 | Study the diagrarmi below representing the human skin and answer the
following questions,

3.4.1

3k492
343

SECTIONC

’mum‘rrm 4

NOTE:

Give the label for part.

0o A
i B

Name the heat regulation centre in the brain,

Explain the consequerces it part A cannot constrict:

TOTAL QUESTION 3:
TOTAL SECTION B!

Name the hormones modumd by the testes xmd ovarles and éa@%ﬁf b@ the role of each
- hormone in pubmy and in the reproductive process. »

Coritent:
Synthesis:

NO marks will be awarded f“m* anmm fn ﬁw form of flow

charts or diagrams.

Copyright reserved

mm;]&mmw C:
GRAND TOTAL:

15 Preparatory Examination September 2016

(17)
(3)
(20)

20
160
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Life Sciences/P1 3 1 September 2016 Life Sciences/P1 4 September 2016
NSC - Memorandum ( \ " 4 “ NSC - Memorandum

14.  If only letter is asked for and only name is given (and vice versa) SECTION A
© " No credit
15.  [f units are not given in measurements QUESTION 1
Candidates will lose marks. Memorandum will allocate marks for units separately 14 1.11 Cvv
. vV
16.  Be sensitive fo the sense of an answer, which may be stated in a different way. “ “ M ) w v |
17. Caption 114 BvY ’ 7
All illustrations (diagrams, graphs, tables, etc.) must have a caption 115 CcCvvy ’ _
: 1.1.6 Cvv !
18. Code-switching of official languages (terms and concepts) 147 B vvY
A single word or two that appears in any official language other than the learners’ 118 O vV
assessment language used o the gréatest extent in hisfher answers should be credited, 11 o B vv ’ |
if it is correct. A marker that is proficient in the relevant official language should be 4 A. 10 7
consulted. This is applicable to all official languages. i Dvv (10x2) (20)
19.  No changes must be made to the marking memoranda without consulting the Provincial 12 121 Amniotic eggv’
Internal Moderator ) 122 Chorionv’

123 HomeostdsisY - i
124 Grommetv’ : I
1.2.5 Adrenalinv’ !
126 Food securityv’ - 6x1) (6)

13 131 A only vv
1.3.2 B only¥v
133 B onlyvv
134 Both A and BvY
135 A onlyvY
1.386 A onlyvv

137 Aonlyvv (7x2) (14)
14 1441 (a) A ¥ Fallopian tube v/ (v
(b) C ¥ Endometrium v 2)
(¢) B v Ovary ¥ (a)
(d) J ¥ Testis v @
142 Epididymis¥’ M ;
1.4.3 - Secrete fluid -assisting in movemerit of spermv’ i T
- Nourishment of the spermv’ ‘ |
(Mark first ONE only) (Any1) (1)
@1e)

TOTAL SECTION A: 50

Copyright Reserved Please Turn Over Copyright Reserved Please Turn Over
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2.5 - The pituitary gland is stimulatedv’ 3.2.4 - lLeaching can occury’
- to secrete more TSHY - waste leaks into the soil and enters the ground waterv’
- The TSH causes the thyroid glandv’ - Waste will spill over into rivers causing poliution v / eutrophication
- to secrete more thyroxinv’ ) (Any 2) (2)
- until normai level is reachedv’ - (5)

3.2.5

TOTAL QUESTION 2: 40 - - :
Total amount of recyclable material in solid

QUESTION 3 ) waste from 2003 to 2006

3.1 1.6
3.1.1 (i) Centriolev’ : (1) 14
(ii) Nuclear membranev’ M ’

3.1.2 - Crossing overvistaking / has taken place
- Chromosomes move to polesv’
- Bivalents (homologous chromosomes) are in pairsv’
(Mark first TWO only) (Any 2) @)

[

3.1.3 NoY’ (1)

S

3.1.4 Humans have 23 pairs / 46 chromosomes and this diagram only
shows 4 chromosomes / 2 pairsv’ . )

(millions of tonnes)

(o2}

b

3.1.5 - ltincreases genetic variation v/
- Reduces the number of chromosomes by half ¥/
- Restilts in the formation of gametesv’
- Ensures that the chromosome number remains constant within
species v’ <
(Mark first THREE only) (Any 3) 3)
) i 9) OR

o

Amount of recycla‘ble material in solid waste

3.2 . Changesin mwm amount of nwnmn_mv_m material in
3.2.1 -The amount of solid waste increasedv’ - solid waste from 2003 to 2006
- from 2003 to 2006 /over time 2)

o
[ R

3.2.2 -increase of the populationv’
- Urbanisationv’
- Communities have access to an increased standard of living’
- Surplus resourcesv’
- Increase in public awarenessv/ education
(Mark first ONE only) (Any 1) (1)
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3.2.3 - Reduce the demand on natural resourcesv’
- Contributes to the conservation of natural habitatsv/
- Less space is needed for landfillv’ Years
- Generates an income v
- Decreases pollution v
(Mark first TWO only) {Any 2) 2)

waste (millons of fonnes)

Change in the amount of
recyolable material In solid
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Life Sciences/P1

SECTION C
QUESTION 4

Testosteronev:

11
NSC - Memorandum

- Produced by the seminiferous tubules~/ testes.
- The production of spermv’ in the testis

Pana

.’

September 2016

During puberty testosterone stimulates the development of secondary sexual
characteristics in the malev in the following ways: ‘

- The deepening of the voicev” as vocal cords elongate in the larynx

- The development of musclesv’

- The growth of facial, pubic and body hairv’
- Development of the penis and testisv’

Qestrogenv:

- Produced by the (Graafian) follicles¥ in the ovaries
- Causes the lining of the uterus / endometrium to become thickerv”
- in preparation for a possible implantationv’

(max 5) ®)

During puberty oestrogen stimulates the development of secondary sexual
characteristics in the femalev” in the following ways:

- Widening of the pelvisv’

- Growth and development of breastsv’
- Growth of the female sex organsv’
- Growth of pubic and armpit hairs v/

- The start of the menstrual cycle, ovulation and Bm:wﬂ._.cmmo: v

Progesteronev:

- Produced by the corpus luteumv’

(max7) M

- Progesterone causes further thickeningv of the endometrium

- so that it is ready for implantationvof the embryo should fertilisation ccour
- High levels of progesteronev’

- Inhibits the secretion of FSHY

- which in turn prevents the further development of any new ovur in the ovary¥ (max 5)(5)

ASSESSING THE PRESENTATION OF THE ESSAY

Relevance Logical sequence Comprehensive
All information provided is Ideas arranged ina Answered all aspects required
relevant to the topic logical/cause-effect sequence by the essay in sufficient detail

Only information relating to the

Hormones appropriately linked

All 3 hormones mentioned and

specific three hormones to their functions at least 3 facts relating to each
included. of the three hormones have
(There is no irrelevant been given (12/17)
information)
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